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Correct answer is Sodium






















	Text1: Josh,  The correct answer is sodium… phosphorous is not correct.    My reasoning was that the largest number of electrons (phosphorous) would have the largest electron shell.  The following was taken from Wikipedia:  Atomic radius tends to increase as one proceeds down any group of the periodic table. This trend is intuitively satisfying: atoms with more electrons have larger radii. As one proceeds across any row of the periodic table, a more complex rationale is required: atoms contract in size within a period from left to right. This contraction results from the increasing number of protons in the nucleus. Protons make little contribution to the size of the atom, but they increase the positive charge of the nucleus, which draws the electrons into tighter orbitals--this is also known as the nuclear charge of the atom.  My logic is true when you move down a column of the periodic table, but it is NOT true when moving from left to right.  I was not aware of the effect of greater positive charge described above.  I apologize for the mistake.  Mark Holtzapple 


